4.4 Inverse Functions NAME:

Corrective Assignment DATE:

Determine if g is the inverse of f.

1.f(x)=2x—4andg(x):%x—2 2. f(x) =(x—=3)°3+4and g(x) =Vx—4+3

Find the domain and range of f, sketch the graph of =1, and find the domain and range of f~1. The graph of
y = x is provided.
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Graph f and verify that f is one-to-one function. Find £~ and add the graph of £~ and the line y = x to the
graph f. State the domain and range of f and the domain and range of f~1.

7. f(x) =vx+2-3 4
f f1
D: -
R: -
ANSWERS TO 4.4 CORRECTIVE ASSIGNMENT
1. Not Inverses 2. Inverses
flg) = g(f(®) = x flg®) =g(f@x) =x
1f(g(x)) =x ) g(f(x) =x flg() = x g(f())=x
—x—2)—4= S (2x—4)—2 = Yx—4+3-3) +4 | V&x—3)3+4-4+3=x
2<92ci42—>4=4xx Z(jx—zél-_)Z:zxx ( ) 235 Jx—-33+3=x
x—8#x x—4#x (3\/x—4)3+4=x x_iti:x
x—4+4=x n
X=X

3. 6._
. = P f-l . - f—1
D: [-2,2] D: [-1,4] D: [-2,4] D: [-3,3] D: [-3,2] D: [-2,3]
R: [-1,4] R: [-2,2] R: [-3,3] R: [-2,4] R: [-2,3] R: [-3,2]
7. f7Y ) =(x+3)2-2 |
f f1
D: [-2, ) D: [-3,)
R: [—3, ) R: [-2, )

I !
1
3




